44th Lithuanian Championship 2023 (Lithuania, Kedainiai 06.05./07.05.2023) - Final Individual Results
Round 1 - 20' Round 2 - 60' Round 3 - 100’

Rank Name Cat. Country Rating # Title

#2 #2 #2

1. | 2. | 3.

1  Martynas Limontas LTU 2495.64 24 GM 5 5 5
2  Kevinas Kuznecovas j LTU 2350.02 60 - 5 5 5
3 Vidmantas Satkus LTU 2375.16 55 IM 5 5 5
4 Viktoras Paliulionis LTU 2102.79 170 - 5 0 5
5  Dmitrijus Chocenka LTU 2312.67 75 - 5 5 5
6  Stasys Steponavicius LTU  2225.42 112 - 5 0 5
7  Arvydas Mockus LTU 1997.37 226 - 5 0 O
8 Vilimantas Satkus s LTU  2060.79 195 - 5 0 5
9-10 Stasis Granauskis S LAT  1631.33 598 - 0O 0 O
9-10 Maris Kaktins S LAT 1575.17 852 - 0 0 O
11 Romualdas Racinskas s LTU  1529.50 873 - - - -

Main Judge: Ryszard Krélikowski Problems Selected by: Ryszard Krélikowski

Top Ten Average Rating 2112.64
Category 11

World Solving Cup Points

Name Country Place Points
Martynas Limontas LTU 1 8
Kevinas Kuznecovas LTU 2 6
Vidmantas Satkus LTU 3 4
Viktoras Paliulionis LTU 4 2
Dmitrijus Chocenka LTU 5 1
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Round 6 - 50'
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1

360
329
349
360
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358
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Perf.
Rat.

2493.32
2437.09
2337.13
2320.89
2164.70
2142.21
2095.97
2004.76
1582.42
1582.42
1494.95

+/-

-0.38
13.94
-6.08
34.90
-23.68
-13.32
15.78
-8.96
-7.82
1.16
-5.52



Problems' Difficulty (11 Solvers)
ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

18 S#5 824 0.88 0 5 2 4
12 H#5 818 0.91 0 4 0 7
15 #6 724 1.38 0 5 3 3
2 #2 636 1.82 4 0 6 1
14 #6 636 1.82 4 0 4 3
11 H#3 636 1.82 4 0 0 7
+ 618 1.91 1 7 2 1
528 2.36 4 3 4 0

= 490 2.55 5 3 2 1

13 #4 422 2.89 3 5 3 0
#3 382 3.09 6 1 2 2
#2 364 3.18 7 0 3 1
#3 346  3.27 6 2 1 2

10 H#2 310 3.45 2 9 0 0
4  #3 302 3.49 6 2 3 0
17 S#3 272  3.64 8 0 0 3
1 #2 272  3.64 8 0 2 1
16 S#2 182 4.09 9 0 2 0
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